September 13, 2018

The sheet on your table is an
example of what a quality homework
assignment might look like.

(when working on problems with a process)
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J
O Solve for m (in other words, re-arrange the equation to isolate m)
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g Find the error in the solution at right. 3 =x—-4 (1(‘} 3 =&x - 4{:{\\
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Show how to find the y-axis intercept AND x-axis intercept(s) algebraically

Of the fOllOWing function . when you are done, you can check with your calculator.

y=x>-18

V- inercept
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X~ INhercept
Set Y= O
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Your LCQ's will be passed back
from yesterday

Use the results as an opportunity to
learn something little or something
big that you don't know how to do.

There will be one copy of the
solutions near each table.

This copy will be collected along
with_your LCQ at the end of the

Learning from your LCQ you took on
Friday.
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Goals for today

Generate an algebraic relationship
to investiqgate a geometric
relationship arising from a box
problem

(1.5 day investigation)
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Demo of an
Open Top Box

being constructed

NOTES
Open Top Box

\/O\Mm Functton
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Each pe  will be given
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D) Cut, fold ) dape your box

B)
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If you were absent last class :

don't forget to check the back counter
for Class Papers.

Also, don't forget to ask for the
solutions to the HW that was due last
Friday.

You already checked my blog so you
know that we had an learning check
quiz yesterday.
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1 59-61, 64-66, 68-69

u_, 59 (can make a sketch instead of a graph)




